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QUESTION 1

An administrator is planning to change a vSAN Storage Policy to apply a Failures To Tolerate (FTT) of 2, using RAID-6. 

What is the minimum number of vSAN nodes required? 

A. 6 

B. 4 

C. 5 

D. 8 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-
center-vms.doc/GUID-EDBB551B-51B0-421B-9C44-6ECB66ED660B.html 

 

QUESTION 2

An administrator is planning to deploy workloads on a six node vSAN cluster, and all nodes are distributed equally
across three racks. 

Which action is required to ensure that the workload VMs remain compliant with the default vSAN policy after a
complete rack failure? 

A. Add an additional rack with two hosts, and configure vSAN with four fault domains and FTT=1 (erasure coding). 

B. Add two additional hosts per rack, and configure vSAN with three fault domains and FTT=1. 

C. Add an additional host per rack, and configure vSAN with three fault domains and FTT=2. 

D. Add an additional rack with two hosts, and configure vSAN with four fault domains and FTT=1 (mirroring). 

Correct Answer: D 

 

 

QUESTION 3

A customer is planning to migrate their physical Microsoft SQL Server clustered workloads to vSAN enabled vSphere
clusters. 

The following requirements must be met: 

Each MSSQL cluster is made up of 3 nodes Highest possible availability against node failures Some of the vSAN
clusters will only consume storage 

What should the architect recommend? 
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A. vSAN iSCSI Target Service 

B. Stretched vSAN Cluster 

C. vSAN Direct 

D. vSAN File Services 

Correct Answer: A 

Reference: https://kb.vmware.com/s/article/2147661 

 

QUESTION 4

An administrator is planning to deploy cloud-native workloads onto the vSAN Direct datastore. Which storage policy
structure rule is supported? 

A. Host-based rules 

B. vVOL storage rules 

C. Tag-based placement rules 

D. Storage performance-based rules 

Correct Answer: A  

 

QUESTION 5

An architect is working with vSAN and setting the fault domains to support FTT=1. How many fault domains will be
needed? 

A. 2 

B. 3 

C. 4 

D. 1 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vsan-planning.doc/ GUID-
FE7DBC6F-C204-4137-827F-7E04FE88D968.html 
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